
[R]

[L]

SLIDER BASE [R]

SLIDER L-10-85

SLIDER BASE [L]

COLLAR 20-10

SOCKET 
M10-50mm
(P-1.25)

WASHER M10

COLLAR 30-10

SLIDER L-10-85

SOCKET 
M10-60mm
(P-1.25)

WASHER M10

WASHER M10

WASHER M10

HONDA CB1300 (’03- ) FRAME SLIDERS


